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PART 1 (46 points)

Answer the questions for (A) The Treasure of Lemon Brown.

A. THE TREASURE OF LEMON BROWN / Walter Dean Myers

Answer questions 1-5.

1.

2.

3.

At the beginning of the story we learn that Greg wants to ().

@) finish his homework
(i)  play checkers with friends
(iii)  visit Lemon Brown
(iv)  play basketball
(7 points)
Greg goes into the abandoned building because (-).
@) he likes to visit unusual places
(ii))  he wants to hide from the thugs
@ii1))  he knows the door is open
(iv)  he wants to find the treasure
(7 points)
Lemon Brown's newspaper clippings show that he was (-).
@) a blues singer
(i1))  abasketball player
(iii)  a war hero
(iv)  acriminal
(7 points)
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4. At the end of the story, Greg "wondered if he should tell him [his father]
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about Lemon Brown." Why do you think he decides not to say anything?
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Explain. Give information from the story to support your answer.
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For this question, choose ONE of the thinking skills from the Appendix
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Lemon Brown teaches Greg an important lesson. Why is it important
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PART II (39 points)

Answer the questions for (B) Mr. Know All OR (C) A Summer's Reading.

B. MR. KNOW ALL/W. Somerset Maugham

Answer questions 6-10.

6.

7.

Which of the following is true about Mr. Kelada?
(i)  Heis loved by everybody.

(ii)  He organizes activities on the ship.

(iii) He sells a pearl necklace to Mr. Ramsay.

(iv) He was born in San Francisco.

(6 points)
Mr. Ramsay is going to Japan (-).
(i)  for a vacation
(i1))  to work
(iii) to play cards
(iv) to buy pearls
(6 points)

How does Mrs. Ramsay react when Mr. Kelada asks to see the pearl

necklace?

ANSWER et e e e e et e e e et e e e et e e eaaa e ae
(6 points)

At the end of the story the narrator ().

(i)  doesn't hate Mr. Kelada so much

(i)  pays Mr. Kelada a hundred dollars

(iii)  is angry at Mr. Kelada

(iv) doesn't give Mr. Kelada the letter
(6 points)
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10. For this question, choose ONE of the thinking skills from the Appendix
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thinking skill when answering the question. (10 points for the content
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Why does Mr. Ramsay decide to make the bet with Mr. Kelada? Give
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information from the story to support your answer.
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OR:
C. A SUMMER'S READING / Bernard Malamud

Answer questions 11-15.

11. COMPLETE THE SENTENCE.

George likes to go to the park because .........ccccoeceercerieenieniienienicnieee,

12. After George closes himself in his room, Sophie shouts at him, "Go on

out, you bum, and get a job." Sophie is angry because George (—).

(1)  quit high school
(i)  lied about reading books
(iii) listens to the radio all day
(iv) has no money
(6 points)
13. Why does George tell Mr. Cattanzara he is reading books?
(i)  He is ashamed that he is not working.
(ii))  He is proud of his education.
(iii)) He knows that Mr. Cattanzara works in a library.
(iv) He wants to talk about them with Mr. Cattanzara.
(6 points)
14. After George tells Mr. Cattanzara that he is reading books, (-).
(i)  George also tells his father
(i)  the neighbors are nice to him
(iii)) Mr. Cattanzara gives him some money
(iv) George decides to go to night school
(6 points)
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15. For this question, choose ONE of the thinking skills from the Appendix

/ -~y
:”,‘

SN\
-y
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At the end of the story, George runs to the library and counts off one
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hundred books and then sits down at a table to read. Explain why he
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PART III (15 points)

Answer the question for (16) Thank You, M'am OR (17) The Road Not Taken.
Suggested length: 60-80 words.

16.

THANK YOU, M'AM / Langston Hughes

"Everyone makes mistakes and sometimes fails. What is important is to
learn from the things that we do wrong and try to change and do better.
This is the only way we will be able to have a good and successful life." —

Dr. Joan Korn

Make a connection between the above information and the story. Give

information from the story to support your answer.

THE ROAD NOT TAKEN / Robert Frost

"Robert Frost saw the lessons of life in nature. His simple and honest poetry

is full of deep meaning." — Suzannah Wolf Walker

Make a connection between the above quote and the poem. Give information

from the poem to support your answer.
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Write your final version here:
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